
¢y•yîû’ !˜öì”Å!Ÿ„þy

1Ð ö„þy!¦þvþéôé19 x!“þ›y!îûîû xyîöì£ !î”Äyœöìëû ßþºy¦þy!î„þ þ™àþ˜éôéþ™yàþ˜ îÄy£“þ £öìëûöìŠéÐ ö„þy!¦þvþ x!“þ›y!îûîû ›öì•Äç
!ŸÇþyíÅ#öì”îû þ™àþ˜éôéþ™yàþ˜ xîÄy£“þ îûy…yîû vþzöìjöìŸÄ£z ›öìvþœ xÄy!Q!¦þ!Ýþ Ýþyßþñéôé~îû ¢)eþ™y“þÐ

2Ð ö„þy!¦þvþ x!“þ›y!îûîû ›öì•Ä !î”Äyœöìëû ßþºy¦þy!î„þ þ™àþ˜éôéþ™yàþ˜ îr• íy„þöìœç !ŸÇþyíÅ#öì”îû x!¦þ¦þyî„þöì”îû ›y•Äöì›
²Ì!“þ ›yöì¢ !›vþéôéövþ !›œ !î“þîû’ „þîûy £öìFŠééÐ !›vþéôéövþ !›öìœîû ¢öìA†£z x!¦þ¦þyî„þöì”îû £yöì“þ “%þöìœ ö”çëûy £öì‰Šé
›öìvþœ xÄy!Q!¦þ!Ýþ Ýþyßþñ†%!œÐ þ™öìîûîû ›yöì¢ !›vþéôéövþ !›œ ¢‚@ùÌ£ „þîûyîû ¢›ëû x!¦þ¦þyî„þîûy !ŸÇþyíÅ#öì”îû „þîûy ›öìvþœ
xÄy!Q!¦þ!Ýþ Ýþyöìßþñîû vþz_îû†%!œ ›)œÄyëûöì̃ îû ‹˜Ä !ŸÇþ„þéôé!Ÿ!Çþ„þyöì”îû £yöì“þ “%þöìœ !”öì‰Šé˜Ð

3Ð ›öìvþœ xÄy!Q!¦þ!Ýþ Ýþyßþñ†%!œ ›)œÄyëûöì̃ îû ›y•Äöì› „þy›Ä !Ÿ…˜ ¢y›íÅÄ x‹Åöì̃ îû þ™öìí !ŸÇþyíÅ#îûy „þ# „þ# xhsþîûyöìëûîû
¢Á¿%…#˜ £öì‰Šé !ŸÇþ„þéôé!Ÿ!Çþ„þyîûy “þy !‰þ!£«“þ „þîûöì“þ þ™yîûöìî˜ ç ëíyëí îÄîÞíy !˜öì“þ þ™yîûöìî˜Ð

4Ð ›öìvþœ xÄy!Q!¦þ!Ýþ Ýþyßþñ†%!œ öíöì„þ£z îyŠéy£z „þöìîû !î!¦þ§¬ ö×!’îû ‹˜Ä !˜!”ÅTþ›yöì̃ îû ²ÌÙÀþ™e ÷“þ!îû „þîûy £öìëûöìŠéÐ

5Ð !ŸÇþyíÅ#îûy ²ÌÙÀ†%!œîû vþz_îû !œ…öìîÐ

6Ð !ŸÇþ„þéôé!Ÿ!Çþ„þyîûy !î”Äyœöìëû îöì¢£z vþz_îûþ™e†%!œîû ›)œÄyëû̃  „þîûöìî˜Ð

7Ð vþz_îûþ™e†%!œ ›)œÄyëûöì̃ îû ›y•Äöì› !ŸÇþyíÅ#îûy „þy›Ä !Ÿ…˜ ¢y›íÅÄ x‹Åöì̃  „þ“þÝþy ¢šþœ £öìœy “þy !ŸÇþ„þéôé!Ÿ!Çþ„þyîûy
î%Gþöì“þ þ™yîûöìî˜Ð



²Ìí› ö×!’
þ™)’Å›y˜ éôé 30

¢‚öìëy† Þíyþ™öì̃  ¢Çþ›“þy

1V ˜#öì‰þîû þ™yàþ!Ýþ þ™öìvþüy ~î‚ þ™yàþ öíöì„þ …¤%öì‹ !˜öìëû öœöì…y õ 2 × 2 = 4

xy‹ î%•îyîû– Š%é!ÝþÐ %̃Ý%þ “þy£z …%î …%Ÿ#Ð ö¢ç ëyöìî „%þœîöì̃ Ð !„þŠ%é ›%!vþü ö˜î xyîû %̃̃ Ð ‰þ!vþü¦þy!“þ £öìîÐ G%þ!vþü !˜öì“þ £öìîÐ
“þyöì“þ „%þœ ¦þöìîû !˜öìëû îy!vþü ëyîÐ vþz›y …%Ÿ# £öìîÐ |¡ìy …%Ÿ# £öìîÐ

„þV %̃Ý%þ …%î …%Ÿ# ö„þ˜Ú
…V „%þœîöì̃  ëyöìî ö„þ˜Ú

2V Circle the English vowel letters from the list of words : 1 × 2 = 2

(i) doll
(ii) bat

3V ö…yöìþ™îû ö¦þ“þöìîû ò>>>>>ó îy ò<<<<<ó î¢yç õ 1 × 2 = 2

S„þV  6             2 S…V  3             8

¢›§ºëû Þíyþ™öì̃  ¢Çþ›“þy

1V ò„þó ç ò…ó öíöì„þ „þíy !›!œöìëû öœöì…y õ 1 × 3 = 3

„þ …

îœ– þ™y“þy– ‹y›y þ™!vþü– ö…!œ– ˜öìvþü

2V Match colours with the objects : 1 × 3 = 3

Object Colour
i) carrot brown
ii) tomato orange
iii) potato red

3V šþ¤y„þy ‡öìîû ò+ó îy ò−ó î¢yçõ 1 × 3 = 3

(i) 5 4 = 9

(ii) 9 2 = 7

(iii) 7 1 = 6



›y˜!¢„þ ç Ÿyîû#!îû„þ ¢›§ºëû ¢y•˜

1V ö“þy›yîû ö”…y ö¦þyîûöìîœyîû Šé!î x¤yöì„þyÐ ö¢Ýþy îû‚ „þöìîûyÐ ö¦þyîûöìîœyîû çþ™îû ”%!Ýþ œy£z̃  öœöì…yÐ 3

2V

vþzþ™öìîûîû x¤y„þy Šé!î öíöì„þ …¤%öì‹ öîîû „þöìîûy ˜#öì‰þîû xy„þyîû „þëûÝþy xyöìŠéÐ ú xy„þyîû†%!œ !˜öì‹îû …%Ÿ# ›öì“þy îû‚ „þöìîûyÐ 3

¢›¢Äy ¢›y•yöì̃  ¢Çþ›“þy

2V þ™y…#öì”îû ˜y› öœöì…y õ 1 × 3 = 3

„þ# „þöìîû þ™y…#îû ˜y›

S„þV îyvþü#îû ‡%œ‡%!œöì“þ îy¢y „þöìîûÐ š%þîû%ê „þöìîû vþzöìvþü ëyëûÐ

S…V GþyvþY”yîû þ™y…# îöìœ öœyöì„þ ö‰þöì̃ Ð

S†V †yöìŠéîû †¤%!vþüîû ö¦þ“þöìîû …yîyîû ö…¤yöì‹– öà¤þyÝþ !”öìëû
†¤%!vþüöì“þ àþ„þàþ„þ „þöìîû öàþyöì„þÐ

2V Select the correct answer : 1 × 2 = 2

(i) Which one of these you don’t see in school ? (a) bench  (b) chalk  (c) blackboard  (d) bed

(ii) Which one of these you don’t see in house ? (a) fan  (b) table  (c) blackboard  (d) bed

3V ¢›y•y˜ „þöìîûy õ 1 × 2 = 2

„þV ~„þÝþy †yöìŠé 5Ýþy þ™y…# îöì¢ !ŠéœÐ ~„þÝ%þ þ™öìîû xyîûç 4öìÝþ þ™y…# ~öì¢ î¢œÐ ~…˜ ö›yÝþ „þëûÝþy þ™y…# †yöìŠé îöì¢ xyöìŠéÚ

…V ˜”#îû “þ#öìîû 7 ‹˜ öœy„þ ”¤y!vþüöìëû!ŠéœÐ ~„þÝþy ö˜ï„þy ~œÐ ö˜ïöì„þyöì“þ 3 ‹˜ !ŠéœÐ “þy£öìœ ö›yÝþ „þ“þ‹˜ öœy„þ £œÚ



ßþºyÞíÄ ç Ÿyîû#îû!ŸÇþy
²Ìí› ö×!’
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S„þV ˜#öì‰þîû Šé!î†%!œîû ›öì•Ä öíöì„þ î’Å/xÇþîû/¢‚…Äy …%¤öì‹ öîîû „þöìîûyÐ 2 × 4 = 8

1Ð ˜#öì‰þîû ö„þy˜ Šé!î!Ýþîû ›öì•Ä ò„þó  î’Å!Ýþ œ%!„þöìëû xyöìŠé “þy …%¤öì‹ öîîû „þöìîû “þyîû ˜#öì‰þ òó !‰þ£« ”yçÐ

(i) (ii) (iii) (iv)

2Ð ˜#öì‰þîû ö„þy˜ Šé!î!Ýþîû ›öì•Ä òAó  î’Å!Ýþ œ%!„þöìëû xyöìŠé “þy …¤%öì‹ öîîû „þöìîû “þyîû ˜#öì‰þ òó !‰þ£« ”yçÐ

(i)                       (ii)                             (iii)                              (iv)

3Ð ˜#öì‰þîû 0 öíöì„þ 9 þ™ëÅhsþ  ö„þy˜ †y!’!“þ„þ ¢‚…Äy!Ýþ !”öìëû ˜#öì‰þîû òîûy‹£¤yöì¢îû Šéy˜yó ~£z Šé!î!Ýþ ÷“þ!îû „þîûy ¢½þî– “þyîû ˜#öì‰þ
òó !‰þ£« ”yç ~î‚ Šé!îöì“þ îû‚ „þöìîûyÐ

(i) 0 (ii) 9 (iii) 3 (iv) 4

4Ð ˜#öì‰þîû 0 öíöì„þ 9 þ™ëÅhsþ  ö„þy˜ †y!’!“þ„þ ¢‚…Äy!Ýþ !”öìëû ˜#öì‰þîû òþ™y!…ó ~£z Šé!î!Ýþ ÷“þ!îû „þîûy ¢½þî– “þyîû ˜#öì‰þ òó !‰þ£«
”yç ~î‚ Šé!îöì“þ îû‚ „þöìîûyÐ

(i) 0 (ii) 9 (iii) 2 (iv) 3

~ Ï̂¢y xy§Ñ˛ Ï̂ì˛ !ü!Ö

~Ñ˛›˛y £§y Ï̂¢Ó̊ äÈyòyñ

~Ñ˛›˛y ˛ôy!Ö ~ÓyÓ̊

v z̨‡˛ Ï̂Ó !Ñ˛ Üyò ˆÜ Ï̂Î̊⁄



 !ŸÇþyíÅ#îûy î’Å!Ýþîû ö‰þ£yîûy ö”…öìîÐ „þ#¦þyöìî î’Å!Ýþ !œ…öì“þ £ëû “þy ö”…öìîÐ ~îyîû !î¨% !î¨% ‹%öìvþü î’Å!Ýþ !œ…öìî– š¤þy„þy
‹yëû†y!Ýþöì“þ !˜öì‹ !˜öì‹ î’Å!Ýþ !œ…öìîÐ

S…V ˜#öì‰þîû Šéöì„þîû !˜öì”ÅŸ›öì“þy „þy‹†%!œ „þöìîûyÐ 1 × 7 = 7

 î’Å!Ýþ ö‰þöì̃ y î’Å öœ…yîû !î¨%†%!œ öëy† !˜öì‹ !˜öì‹ !˜öì‹ !˜öì‹
þ™å•!“þ!Ýþ ö”öì…y „þöìîû î’Å öœöì…y î’Å!Ýþ öœöì…y î’Å!Ýþ öœöì…y



S†V îy›!”öì„þîû hßþöì½þîû ¢öìA† vþy˜!”öì„þîû hßþ½þ ö›œyç ~î‚ ›yöìGþîû Šévþüyîû Ÿ)̃ ÄÞíy˜ þ™)îû’ „þöìîûy õ 1 × 7 = 7

„Êþ!›„þ îy›!”„þ Ÿ)̃ ÄÞíy˜ þ™)îû’ „þöìîûy Ÿ)̃ ÄÞíy˜ þ™)îû’ „þöìîûy
¢‚…Äy

——pple õy Ï̂ò xy Į̈̂ ôúñ

xy Į̈̂ ôú ~Ñ˛!›˛ ö˛ú–
1

2 B——t õy Ï̂ò £Î˚ Óƒy›˛ñ

!Ñ ̨ Ï̂Ñ˛›˛ ˆÖúyÎ˚ úy Ï̂Ü–

Ca—— õy Ï̂ò £Î˚ ›%̨ !˛ôñ

˛ôv ¸̨̂ ÏÓ xyõyÓ˚ ¶˛y£z–

3

4 D——ll õy Ï̂ò £Î˚ ˛ô%ì%̨ úñ

~!›˛ ˛ô%ì%̨ úÈÙÈˆõˆÏÎ˚–

5 Foo——ballÈÙÙÙÈ̂ ÖúyÓ̊ Óúñ

ˆÖúyÎ˚ ˆ¢ ˆì˛y õy Ï̂ì˛–

6 Fi——h õy Ï̂ò £Î˚ õyäÈñ

õyäÈ ˆì˛y Ìy Ï̂Ñ˛ ã Ï̂ú–

7
Ha—— õy Ï̂ò ˆì˛y ›%̨ !˛ôñ

õyÌyÎ˚ v ẑ̨ Ï‡˛ xy Ï̂¢–

——pple

Ha——

Fi——h

Foo——ball

D——ll

Ca——

B——t



S‡V îy›!”öì„þîû Šé!îîû ¢öìA† vþy˜!”öì„þîû Ÿ·†%!œ ö›œyçÐ 1 × 8 = 8

„Êþ!›„þ îy›!”„þ vþy˜!”„þ
¢‚…Äy

1

2

3

4

5

6

7

S„þV xy›

S…V îœ

S†V „þyþ™

S‡V ö‰þëûyîû

SˆV !vþ›

S‰þV ›yŠé

SŠéV ‹†

S‹V öþ™˜8
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